——
N = 0] &F AF S & AN A
20168 = 20 A LB H T AIHEAIS S TAIDHE D ~ SAIHEAIS S ZZ2AE0
SN TAHEASS T AIDHE D
T AR
CHRl: AP CHX 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TAIIDHEAFS SF S Al D & 1} 21,188,866 17,166, 147 4,022,719
= 3,766,000
Xl 6,080,000
S 1,000,000
Al 10,342,866
S AR 20,959,944 17,044,443 3,915,501
= 3,766,000
Xl 6,080,000
£ 1,000,000
Al 10,113,944
Ab ek X 22 101,500 0 101,500
SCHH ZHMEHMAPCHR FFHAY 101,500 0 101,500
403 XX SRS K20 & 101,500 0 101,500
02 2| 2SOUtes ==& AE Y 101,500 0 101,500
O3 ZAMEIMATT P
101,500,000& * 13l 101,500
MAHACI A 19,648,144 17,035,071 2,613,073
= 3,416,000
Xl 6,080,000
= 1,000,000
Al 9,152,144
HFHIALECA B2YE £ X AIY 1,000,000 1,000,000 0
N 1,000,000
401 AlEHIZL 2 0HY| 1,000,000 1,000,000 0
N 1,000,000
01 Al&EH| 994,000 993,800 200
OFFHIALZ2IA 2EE =& XA AlA
Hl 994,000,000& 994,000
Xl 994,000
03 AlE 20| 6,000 6,200 A 200
OFFHIALZ2IA 2EE =& XA AlE
AR 6,000,000& 6,000
N 6,000
QEMIMASR 222 AL 3,480,000 1,000,000 2,480,000
N 3,480,000
401 AlEHIZL £ 0HY| 3,480,000 1,000,000 2,480,000
Xl 3,480,000
01 Al&H| 3,199,000 993,800 2,205,200
OLLEMIMNATAR S22 AIE Al&H|
3,199,000,000& 3,199,000
N 3,199,000
02 2eldl 272,554 0 272,554
O& ™M= 2t 2| | 272,554,000 272,554
Xl 272,554
03 Al 201 Y| 8,446 6,200 2,246




2N
X ZH -
L= B

el

S AR AR Z A2
S ADHE

AHEI XY

()

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OAN&20HI 8,446,000 8,446
X 8,446
SENMEI SIS H-SLHe AL 10,550,000 12,226,571 A 1,676,571
= 2,416,000
Al 8,134,000
403 TtXI M SA=01H 10,550,000 0 10,550,000
= 2,416,000
Al 8,134,000
02 S 2S0tHe X=X T AL b 10,550,000 0 10,550,000
OREH2MSISTHR HEZELH AL
10,550,000, 000& 10,550,000
=2 2,416,000
Al 8,134,000
LEN2EG NS HI S+SSAIE 1,600,000 1,000,000 600,000
N 1,600,000
401 AIEHIZ SR CHYI 1,600,000 1,000,000 600,000
Al 1,600,000
01 AlZHI 1,486,040 1,000,000 486,040
O2BHMA VST SLTSAIL ALY
1,486,040,000& 1,486,040
X 1,486,040
02 Zeldl 108,960 0 108,960
O2BHMADSHT SLTSAL 2t
108,960,000& 108,960
Xl 108,960
03 Al 2 HHI 5,000 0 5,000
ORSHMADSHT SLTSAL AL
Hl 5,000, 000& 5,000
X 5,000
FFHICZ2CA HXMeld EXAY 1,000,000 373,000 627,000
= 500,000
Al 500,000
401 AIEHIZ S CHYI 1,000,000 373,000 627,000
= 500,000
Al 500,000
01 AlZHI 994,000 373,000 621,000
OFFHIALZ22L HaXNAE XA Al
el 994,000,000& 994,000
= 500,000
Al 494,000
03 Al 2 CHHI 6,000 0 6,000
OFFHIALEZCL HaXNAE EXAE Al
2204 6,000, 000& 6,000
ERNSAHSR H=HHK AL 1,803,500 1,303,500 500,000
= 500,000
= 1,000,000

N




2AM:
DE AR

el

X ZH
S =

S AR AR Z A2

AHEI XY

()

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 303,500
401 AlEHIZL £ 0HY| 1,803,500 1,303,500 500,000
= 500,000
S 1,000,000
Al 303,500
01 Al&H| 1,670,000 1,298,830 371,170
OLEM3IALCHX HE=HAHAMIAIE AlAH|
1,670,000,000& 1,670,000
= 500,000
=1 1,000,000
Al 170,000
02 Zeldl 128,089 0 128,089
OXH = 22| 128,089,000 128,089
03 Al 201 Y| 5,411 4,670 741
OA&ES20idl 5,411,000 5,411
HFEA SAASEI] ZHAIS 200,000 0 200,000
401 AlEHI 2L 2 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O=MHCHR EVEHE T A 200,000,000& 200,000
HEMASGXZLHAIE FA 14,644 0 14,644
201 gEt24Ay| 14,644 0 14,644
01 AP 2t 2] d| 12,100 0 12,100
oBEMaTZ=zH Q! 2,500,000& = 1JH 2,500
OMNSZN & 228 Y AX
800,000& = 1CH ~ 12& 9,600
02 E22%H| 2,544 0 2,544
oxngssUt 1,325& = 82lH * 240 2,544
SAMEB2EXRY 410,300 9,372 400,928
SO2HsE2d A2 410,300 9,372 400,928
201 Yet2 | 10,300 9,372 928
02 =224 H| 10,300 9,372 928
OJIZ2EotS dMIIR3 250,000 ~ 12€ 3,000
o= 200,000& * 12& 2,400
O30|l8 BEJSE NSRYIHEH=
4,900,000& 4,900
401 Al HI L 204 HI 400,000 0 400,000
01 Al&H| 400,000 0 400,000
oOs0l=Z2MES22 W 28X HYUIEX)
400,000,000& 400,000
A CFX| X A4 800,000 0 800,000
= 350,000
Al 450,000




AN ZTAOHZASE ZADHE D

M SAONY

ChSl: ARICHEITH A (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
EFAHCT AL A 800,000 0 800,000
= 350,000
Al 450,000
401 Al Bl 28I 800,000 0 800,000
= 350,000
Al 450,000
01 A& Bl 800,000 0 800,000
OFF4rEt THAA = =8 9 600,000,000 600,000
= 300,000
Al 300,000
OFFNE HABAYF Y 2
100,000, 000& 100,000
= 50,000
Al 50,000
OHFNT PEDTHHYLE B
100,000, 000& 100,000
S AR 14,400 1,000 13,400
DdEHQ TAIAHL 14,400 1,000 13,400
SAHE HRFA 14,400 1,000 13,400
201 LB-2E| 6,400 1,000 5,400
01 At 22l 6,400 1,000 5,400
OYREINAN R0l 10,000& = 808 * 83l 6,400
203 YR =2t 8,000 0 8,000
03 A MFAH S =AY 8,000 0 8,000
OZAIMNE HR2FA 6,000,000 6,000
OFEFHIALZelAZT LAY =& 2,000,000 2,000
HE2AZIH(SAIHEAIS S S AIDHZ ) 214,522 30,704 183,818
ol 2 gl 173,602 0 173,602
ol Al 173,602 0 173,602
101 14 Hl 173,602 0 173,602
01 2= 167,976 0 167,976
AL DRAg (LBHA)
9,332 = 50 * 30Al2t = 128 167,976
02 JIEt A 2+ 5,626 0 5,626
ONNADR4Y (HAZE)
9,376& * 2% * 25AI2t « 128 5,626
Jl=234l 40,920 30,704 10,216
Jl2ztl 40,920 30,704 10,216
201 Let24d] 15,060 13,664 1,396
01 At 2teltl 15,060 13,664 1,396
OJle2ged #s2H(JIEZH)
7,500,000& 7,500

_4_




AN ZTAOHZASE ZADHE D

MM HE2AZH (S AIHLAIS S S A2

@ Jl2gl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

o3gdl(JIE&H]) 7,560,000 7,560

202 04| 16,200 14,040 2,160

01 2LHOHI 16,200 14,040 2,160
O J|I&EZ&HI 16,200,000& 16,200

203 &2 =&H| 9,660 3,000 6,660

01 J|22H L RF=AH| 3,300 0 3,300
OJIN=H(43) 3,300,000& 3,300

02 RIS R =X 2,160 0 2,160
O©J= (100 0l 5}) 40,000& * 549 2,160

04 2SI L RF=AH| 4,200 3,000 1,200
©J|I= (302! 0ldt) 4,200,000 4,200




= A
N = 0] &F AF S & AN A
20168 = 20 A LB H T AIHEAIS S TAIDHE D ~ SAIHEAIS S ZZ2AE0
SN S AIHEAS S Al THA D
H M AR A
CH|: S Al KH A 2t2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TAIIDHEAFS SH S Al TH A 1} 14,974,845 40,624,522 N25,649,677
= 452,000
Xl 8,253,000
= 53,806
Al 6,216,039
& Al TH 24 9,337,649 10, 143,946 A 806,297
Xl 8,132,000
Al 1,205,649
S AL TH A 22| 1,807,649 10, 143,946 N 8,336,297
Xl 632,000
Al 1,175,649
2otz EH3E S sds 43 245 AlY 1,142,000 7,452,650 A6,310,650
Xl 571,000
Al 571,000
307 QI2t0| ™ 200,000 212,000 A 12,000
Xl 100,000
Al 100,000
05 QIZtREZ 200,000 0 200,000
O AI A T2 et & 2HAA
200,000,000& 200,000
Xl 100,000
Al 100,000
401 Al HI L £ 0HHI 942,000 7,240,650 A6,298,650
N 471,000
Al 471,000
01 Al& H| 845,540 7,149,440 N 6,303,900
O=TLS MNAUSHGAIY 845,540,000 845,540
Xl 422,770
Al 422,770
02 22|l 91,650 74,100 17,550
oOzds AHAEHIAIY 91,650,000 91,650
N 45,825
Al 45,825
03 A& E2HH| 4,810 17,110 A 12,300
O=TLS MNAUSHGAIY 4,810,000& 4,810
N 2,405
Al 2,405
HECANMMEXAMMEHSS 543,649 435,000 108,649
203 SR F & 2,000 0 2,000
03 AIZH =X 25 X H| 2,000 0 2,000
OZA MM HRE=X 2,000,000& 2,000
307 giztol A 536,880 435,000 101,880
05 QIZtRES 536,880 435,000 101,880
O AITHAMAE QI2IREZ 536,880,000& 536,880




2N
DS AT A

el

X ZH
S =

S AR AR S AITH A ot

S A A 2 el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 4,769 4,769
01 AL ESFH S 4,769 4,769
OEANMHMXZHE &Il 2 4,769
OkESES 1,380,000& * 14 1,380
OX=2elald] 441,000& = 14 441
O2tbct 150,000& » 104 150
oY T=zME 2,380,000& * 1CH 2,380
Oo0lsa A3¢ 418,000& ~ 104 418
ot =2 JHel AHEH3 MY 122,000 122,000
Xl 61,000
Al 61,000
307 21201 A 50,000 50,000
Xl 25,000
Al 25,000
05 RIZteIEt = 50,000 50,000
Ootd Y o9 JHel 4HELFAY
50,000,000& 50,000
Xl 25,000
Al 25,000
401 AIEHI L 2 CHYI 72,000 72,000
Xl 36,000
Al 36,000
01 A& HI 71,400 71,400
Ootd Y s JHel 4HELFAY
71,400,0008! 71,400
Xl 35,700
Al 35,700
03 Al S HHI 600 600
Ootd Y o9 JHel 4HELSAY
600,000 600
Xl 300
Al 300
ATHA o & A S 7,530,000 7,530,000
Xl 7,500,000
Al 30,000
MHIIs OIMFXNE 888 ISR =4 7,530,000 7,530,000
Xl 7,500,000
Al 30,000
307 21201 A 130,000 130,000
Xl 100,000
Al 30,000
05 RIZt2IEt = 130,000 130,000
OZAMMY d=XS Fgds T2 08 He
¥ 2 100,000, 000& 100,000
Xl 100,000




AN ZTAOHZASE ZAITH A

T S AITHA

Sl SATHY HTAY (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OKNTAY =ZEZICUHOIEH 29|
30,000, 000& 30,000
401 Al HI L 2 0HHI 7,400,000 0 7,400,000
N 7,400,000
01 Al&H| 7,392,000 0 7,392,000
O AN B AHS 7,392,000,000& 7,392,000
Xl 7,392,000
03 Al& 201 Y] 8,000 0 8,000
O A MM HdEZ AL 8,000,000& 8,000
Xl 8,000
HECA A4 162,204 28,668,224 N 28,506,020
SHEZ AN 2tel 162,204 8,648,224 A 8,486,020
kT&G 22|24 162,204 8,648,224 N 8,486,020
201 YEr2 Y| 138,004 139,384 A 1,380
01 AR 22l ] 54,544 65,524 A 10,980
OFJAZZE I =4 120,000& = 29 240
OFUZBHZG AM2B102 980,000& * 13 980
OsL)| MU=
220,000 = 12&€ 2,640
OMIICHE M =S 1,300,000& * 12& 15,600
ogtstael =42 1,200,000& * 12& 14,400
OANEZE EIIEE W
10,000,000& * 13 10,000
ORoAdH =2 300,000& = 12& 3,600
OZAMM ST AIY F8 AR ZAH 29 4,164
O3l MHE M
5,000& * 208 * 23 = 128 2,400
OARFRHL E2 ZAH|
7,000& * 3" » 7 x 12& 1,764
OZAIMM S AIY =8 EE23 L 263 Of
ES| 2,920
OXZE 2 BEOA & o2
5,000& * 508 * 63 1,500
oot 222 500& * 2,000 1,000
Og =5 70,000& * 63 420
02 3524t 83,460 73,860 9,600
(OFSE=IX=3 25,000& = 12& 300
oxts 100,000& * 128 1,200
o&Il= 5,000,000 = 12& 60,000
osIEANLRE 2 800,000& = 23| 1,600
OKT&G ST A& 22X 2= 30,0008 = 128 360
OKT&G A& =2 w4l 20,000, 000& 20,000
202 04| 3,200 3,840 A 640




2N
X ZH -
L= B

el

SAOHEAIHE ZA
EXE AN HA
ST A 2el

=

=
0z
&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 3,200 3,840 A 640
OTATHY AT ALY E43=2
20,0003 = 49H » 40 3,200
401 A& HIZ 201 I 20,000 8,500,000 A 8,480,000
01 A& HI 20,000 8,500,000 A 8,480,000
OKT&G Al S ZFZortdAt 20,000,000& 20,000
405 TtatF S| 1,000 0 1,000
01 AL EFFHSH 1,000 0 1,000
odted 2 1,000,000& = 1CH 1,000
SANRFEHESZFHH ALY 2,133,564 602,860 1,530,704
= 452,000
Xl 121,000
< 53,806
Al 1,506,758
FHEZ ML AL 1,013,353 522,000 491,353
= 452,000
Xl 121,000
< 53,806
Al 386,547
FHEZ M 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 QB AAHFEX 60,000 60,000 0
ol EH ¥ HIIS™M2HE NI
1,000,000 * 60= 60,000
st28d 2 s NIAY 80,000 0 80,000
402 RIZEX20l ™ 80,000 0 80,000
01 It t=2 AL B X 80,000 0 80,000
CHENE RN EE-S L
40,000,000 * 2= 80,000
279 FAHSIMNEAY 242,000 302,000 A 60,000
Xl 121,000
Al 121,000
401 Al HIZ 201 8] 242,000 302,000 A 60,000
Xl 121,000
Al 121,000
01 A& HI 240,270 299,825 A 59,555
OZ27Y FAHESIMEAY 240,270,000 240,270
Xl 120,135
Al 120,135
03 Al 2 THHI 1,730 2,175 A 445
OFERA FHEAMM AL
240,270,000& * 0.72% 1,730
X 865
Al 865




=

SAN: SANLASE SAITHAD

Hu: CALEASZIY AL
Sel FHEZNAAL (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHE FHAXY MEHA HZAY 631,353 0 631,353
= 452,000
< 53,806
Al 125,547
401 Al HI R 201 I 631,353 0 631,353
= 452,000
< 53,806
Al 125,547
01 A& 8l 627,400 0 627,400
OSO0E FUX A MEOA HEAY
627,400,000 627,400
= 452,000
S 53,806
Al 121,594
03 AlE 2 THHI 3,953 0 3,953
OS0E FUX A ME0A HEAY
627,400,000& * 0.63% 3,953
FEHTNEY & WA= ALY 1,120,211 80,860 1,039,351
9 2el 25,490 11,320 14,170
201 Let24d] 24,490 10,320 14,170
01 At 22/l 24,490 10,320 14,170
OxFQ&Hs =2 M= 70,000& = 73l 490
o=xgls=2=s M= 600& = 2,500% * 43| 6,000
OFHIAIY =ZJ3 & X8 AMEBHEEE
3,000,000& * 69H £ 18,000
203 YR =] 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
OFHI 7 gRFa 1,000, 000& 1,000
BIE(H ) ZHIAY 50,540 50,540 0
401 AIEHIZL 2 0] 50,540 50,540 0
1T A& HI 50,000 50,000 0
OR&dFH & F=X&EXE4H 10,000,000& * 55 50,000
03 A& =2 THHI 540 540 0
OHITEY U FHE X4
50,000,000& * 1.08% 540
A7 JIBHAIE FHIAMY 688,268 0 688,268
401 A& HIZ 201 I 688,268 0 688,268
01 A& HI 684,242 0 684,242
O& A& AHI 1,278,000,000& =* 3.54% 45,242
O3 AHI (1XHE) 639,000,000& 639,000
03 Al 2 THHI 4,026 0 4,026
OA &SI 639,000,000& * 0.63% 4,026




AN ZTAOHZASE ZAITH A
|

HE: CAYFENSBEZY ALY
A

SHPl FETIHL L WAS ALY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
gFE=27Y JISAlE UMY 355,913 0 355,913

401 Al HI K 201 I 355,913 0 355,913
01 A& Bl 353,537 0 353,537
O & Al E A HI 663,000,000& * 3.55% 23,537
O3 AHHI (1XHE) 330,000,000 330,000
03 Al 2 THHI 2,376 0 2,376
OAIE S HHI 330,000,000& * 0.72% 2,376
HE2HAZH(SAIHLAIS S = AITH A 1) 41,428 56,992 A 15,564
Jl= &l 41,428 56,992 A 15,564
JlE&l 41,428 56,992 A 15,564
201 Let249] 18,868 25,432 A6,564
01 At 224l 18,868 25,432 A6,564
OJlegesd ezl 8,500,000& 8,500
OJIEZ Ul (S4l) 8,568,000 8,568
oOB4ZZ2d A8 ==& 150,000& = 128 1,800
202 o4dl 18,360 18,360 0
01 = LH 4 Hi 18,360 18,360 0
OJlEgl 18,360, 000& 18,360
203 YR =&t 4,200 8,200 A 4,000
04 FN2ILSF=AH 4,200 4,200 0
©J| & (302!0l3at) 350,000& = 12& 4,200
MEES(SAIHLAIZI S S AIXHAS 1) 3,300,000 1,152,500 2,147,500
HEHHK = 3,300,000 1,152,500 2,147,500
LHEHeHXI = 700,000 1,000,000 A300,000
702 J1S¥ES 700,000 1,000,000 A300,000
(PIE=RSE—= 700,000 1,000,000 2300, 000
SANHF=NEE EHDIs dE=S
700,000,000& 700,000
KT&GE At = & & 2,600,000 152,500 2,447,500
705 =32 cl 34 e 2,600,000 152,500 2,447,500
o133 4E 2,500,000 0 2,500,000
OKT&G 2X Y 8lt=z =4
2,500,000, 000& 2,500,000
02 Ol ==3 0l At &t &t 100,000 152,500 A 52,500
OKT&G XY Xtz 0l A& et
100,000, 000& 100,000
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M SAMNLAEE SSAIL
Hu: s8N0 HA 2% 2 B
ool ARE 22BY T4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=& ¥ 2352 ALt |
400,000& = 23| 800
ogzas ®Mles 7,000,000& = 12& 84,000
Ogas Hot=Ee3 500,000& = 123 6,000
OFA H&EAZHI
9303 * 145m * BAIZt * 1052 113,274
o122 Azl
930 * 2m x 8A|Zt » 60 893
OSXa AHI A AR, AR
5,000& * 34 + 15& * 53 5,625
o2 Zya gl
1,300& = 22IEH * 16AI2t = 105 4,368
OblI& I A2
1,700& = 5002/ H = 15¢ 12,750
OAIE ZHI S X 102,795
OFARASRALI (22, =2, 255, A,
g2s) 79,605
=& 4,615& « 2,639m 12,179
-2 4,615% * 5,233.15m’ 24,151
-2EsES) 2,280& = 1,332.8m 3,039
=8 2,280& = 1,408.56m 3,212
-3 s 4,6153 * 4,221.49m’ 19,483
-2t A 4,615% = 202m’ 933
-Z 3t & 4,040 = 3,093m’ 12,496
-2M1 4,615 = 891m’ 4,112
OFEAMUW 0o XL 60,000& = 170CH 10,200
OFAW oo 28 HA
77,000& = 120CH 9,240
O=& % 23tsl2 CCTV= Xl bl
250,000& = 15CH 3,750
203 YR =& 1,000 0 1,000
03 A F=AH S =AY 1,000 0 1,000
OZ3AE H2F& 1,000,000 1,000
206 24 78,656 78,656 0
01 =8l 78,656 78,656 0
OFEA 22l &3 78,656
OHALEE(EX 2 78) 7
150,000& * 88 = 12& 14,400
OEgd F2H ¢ 8,000& * 800kg 6,400
O2ged E2H 2L 8,000& = 500kg 4,000
OFIMHHAIE T (LE 2 195) ¢
50,000& * 208 1,000
OANMEE8 A=CIAE Tt 72
100,000& * 208 2,000
odd ¢ 2HE ¢ 1,300




M SAMNLAEE SSAIL
Hu: s8N0 HA 2% 2 B
ool ARE 22BY T4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-HH 5,000& * 200m 1,000
-ZHE 30,0003 » 10 A 300
OLEDS 17 72 (50W) 170,000& * 304 5,100
OF&8XHI +g 2,980
-20A 50,0002 * 54 250
-30A 70,000& = 9K 630
-75A 140,000& * 104 1,400
—-100A 140,000& * 54 700
Os&J gstz2s +¢ 10,000& * 100 1,000
OLYANE T 7 1,500
-st I 2 X DI 10,0002 * 504 500
-33 2 48 200,000& = 504 1,000
OSt&EA MR, 394 228 7Y 15,096
-SJEEH 12,000& = 35004 « 128 5,040
-BHIIAIE A 13,0002 » 460 « 12 7,176
-H e A 15,0002 * 160 = 12 2,880
OoMegIIAZESE #4
1,800& = 3000# = 12& 6,480
Ogas1, 2232, 2332 22 ES
150,000& * 883 = 12& 14,400
OAt=dEH =37 100,000& * 5& 500
OAZ3 2B AF
100,000& = 5& = 53| 2,500
307 21201 A 3,720 3,720 0
05 RIZt2IEt = 3,720 3,720 0
O1= &AL Re13H &4 150,000& » 12& 1,800
O23%tal 2 M &4 160,000& * 123 1,920
401 AIEHI L 20 389,958 437,276 ANA4T7,318
01 A& HI 387,170 434,150 246,980
OFAMUH ASAE (M, J1H) A&l
5,000,000& * 5)H= 25,000
OEYd, 8=, M, HHAIE SN Y|
5,000,000& * 5= 25,000
OFEAL A%, Ald=2 E=
5,000,000 * 200H A& 100,000
O&FUW MII&H 2= 82,750
O &H Lo & Bt 2,000,000& * 14&H 28,000
O&F Az M Bt 300,000& » 7000 & 21,000
OMRASFEES 2,250,000& * 1500 A& 33,750
o2gd M= 1,500,000& * 5& 7,500
OFXZHAAE X 2el
1,500,000& * 200 £ 3,000
O=2d HALAMAHAAE AX
30,000,000& * 14 30,000
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SAN: SANLAMES SSAIE DL
M g8 HAI 29 & 22|
Sl WHE 228Y T4 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ON=d f THEI@ & 228 =4
2,000,000& * 109H 1+ 20,000
OFAN W MRPE =83 A
10,000,000 * 44 1t 40,000
ogds Ne T&3AM 24,000& * 630m 15,120
o2ds, =S YA 32,400
osas ¢ 60,000& = 95m° 5,700
OFas Y= 60,000& * 280m 16,800
Ozds &5 =43 Y 5,000& = 1,980m 9,900
OFAL LI == CCTV WXl 800,000& =+ 8CH 6,400
03 A& 20 b 2,788 3,126 A 338
OFAMAEZS FANES 20U
387,170,000& * 0.72% 2,788
405 XtabF SHI 43,260 43,000 260
01 A&t =S F SHI 43,260 43,000 260
O&U AIRA &I 7Y 43,260
OMNEES A 200,000& = 304 6,000
OMEE AKX 250,000& = 304 7,500
ONRE ME 200,000 = 304 6,000
O2H gl 200,000& = 2004 4,000
O3z 2 800,000& * 204 16,000
OLE= 1,380,000& = 1CH 1,380
otz dE 2,380,000& * 1CH 2,380
SSH SEAN A2 904,349 465,057 439,292
202 04t 3,000 3,600 A 600
01 2LHOHI 3,000 3,600 A 600
OSHAZIUA S AIdxZ A & AW
20,000& » 3% = 50 3,000
A&H L 20U 901,349 461,457 439,892
01 A& HI 895,706 459,630 436,076
OEHUWAES FOIMdH ZIHHBA 38,280
O=sag=s 58,000& * 345m’ 20,010
OQa gl 87,000& * 210m 18,270
OJtds FAUME SHIINESA 45,426
Oocgas &AX 582,000& * 43m 25,026
ORMAEAAE FIIT &3
300,000& = 38m 11,400
Ol SH32t &X
9,000,000& * 100 A 9,000
Ox==1s FOHH SHIMNLEZAH 32,000
OXotE=XE HEY =& Z A 5,000,000 5,000
OL=XH WA S At 18,000,000& 18,000




M SAMNLAEE SSAIL
M S EH FA 2Y & 2l
& HEE 2REE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHHEI| OIS A 2,000,000& 2,000
028 E&SA 7,000,000& 7,000
O8-% - SEMN HIANEE AEEFHANLE 2
= 1,200,000& * 3000 = 36,000
O ¥ SEMN AFAEE AEEFZANLE 2
= 5,000,000& * 30 = 150,000
O - - SEA 242 & JIAHLH SN
= 1,000,000& * 3004 = 30,000
O=Hes FCHH F=XE Z&3AM 347,000
OfX &« 2= 297,000,000 297,000
OHE2EH ¥ =&F =4 50,000, 000& 50,000
OHOIE FOME 2D == A
54,000,000& 54,000
OSBE FUME D == ZA
45,000,000& 45,000
OL-=&dltH& ol=28tAl =Xl &X
9,000,000 = 200 A 18,000
O -8 -5 F0dH st HESA
20,000,000 = 504 A& 100,000
03 Al 2 THHI 5,643 1,827 3,816
OSEA A&l AIZ220d
895,706,000& * 0.63% 5,643
SFAES FLHH A= 216,568 0 216,568
401 A& HIZ 201 Y] 216,568 0 216,568
01 A& HI 216,568 0 216,568
0324 Al 216,568
O & Al 4,600,000,000& * 4.28% 196,880
O=2 Batt| 196,880,000& * 10% 19,688
g0 =22 Hg 118,815 0 118,815
401 Al HIZ 201 Y] 118,815 0 118,815
01 A& HI 118,815 0 118,815
O & Al & A HI 2,670,000,000& =* 4.45% 118,815
HE2AIH(SAIHNEAIE Y ZSAIED) 336,796 328,862 7,934
24l 50,048 49,742 306
=224l 50,048 49,742 306
201 L2l 22,088 20,782 1,306
01 At 22l 22,088 20,782 1,306
OJl=ge =#HESZH(IIE=Z4)
11,000, 000& 11,000
o=zt (OIE2dl) 11,088,000& 11,088
202 044l 23,760 23,760 0
01 = LH 4 di 23,760 23,760 0




A TAIHE A

H: HHE2AAHI(ZANLAISE ZSAIED)

114
m
o
o1
T >

el Jle 2 (298 R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
©JI2ge =X (21=&H|) 23,760,000& 23,760
203 ¥ R =&t 4,200 5,200 A 1,000
04 ENSHLRF=XH| 4,200 4,200 0
©2J|l=AHl(302!0lal) 4,200,000& 4,200
ol 2 A | 286,748 279,120 7,628
ol A4 H| 286,748 279,120 7,628
101 @121l 286,748 279,120 7,628
03 I HLs22 B+ 272,856 266,299 6,557
OF A2 272,856
o9s 146,693
-254E X} 28,109,880 * 2™ 56,220
-15E X} 23,533,380 * 2 47,067
1148 Xt 21,702,780& * 2H 43,406
o= 65,805
s 70,000& ~ 69 « 12& 5,040
—HEE G 100,000& » 1¥ = 12& 1,200
- IZZ2eY
8,800& * 20AI2t * 6YH * 128 12,672
-5dIAR2xH
8,800& * 20AlI2F » 6Y * 36Y 38,016
P =
27,000,000& / 3652 x 6H = 20 8,877
OXtH s X2 1,944
-5t 51,990& * 43| x 1H 208
-1 SsHM 433,880 * 43| » 1H 1,736
OY ZE = 1,381,990& * 6 x 23| 16,584
O= & 130,000& * 6Y = 12& 9,360
[@FnE=3:]| 130,000& * 69 = 12& 9,360
o254+ 190,960& * 6Y x 12& 13,750
OJFAH X & Hl 115,000& * 69 = 12& 8,280
Ol =t 90,000& x 2& = 6YH 1,080
04 JIZtHI22XNSE S 13,892 12,821 1,071
OJIZtMZ2zXsEx 13,892
O2stg & Al&d22 o2
48,2803 * 262 * 10& 12,553
O=201d32 22 12,553,000 * 4.5% 565
OnNELEY 22 12,553,000& * 1.5% 189
OutATHoll BEaEE =
12,553,000 * 1.42% 179
O=202Hd HEs8s 2=
12,553,000& * 3.035% 381
O&IRY E8= 381,000 * 6.55% 25




EA ZANEASE SSAIEL
H: WHRES(SSAEL)

Ehel: LHEHAHX = (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

HRES(S3A41) 10,000,000 10,000, 000
HEHHKI= 10,000,000 10,000, 000
FAMNAEIS 10,000,000 10,000, 000
702 JI3HEE3 10,000,000 10,000, 000
01 JI3dE= 10,000,000 10,000, 000
OFMNAHEDIIS HEZ 10,000,000, 000& 10,000,000




